Sample H — um, H— ut
0-Jet 1-Jet 2-Jets 0-Jet 1-Jet 2-Jets

misidentified leptons 1770 £530 377114 18+1.0 | 42+17 167 11+£0.7
Z =TT 187 £ 10 59 4+4 04+02 | 6543 39+2 13#£0.2
27, WW 46 £ 8 15+3 02402 | 41+£7 22+4 0.7+£0.2
Wy — — — 2+2 242 —

Z — eeor upu 110 £23 207 01+£01|16+£07 1.840.8 —

tt 2240.6 24+ 3 094+£05|484+0.7 303 18404
tt 224+1.1 13+£3 054+05|194+0.2 68+£08 0240.1
SM H background 71+1.3 534+£08 1.6x05|19+03 16+0.2 0.6+0.1
sum of backgrounds 2125+£530 5134114 54+14 | 16019 118+9 5.6+0.9
LFV Higgs boson signal 66 1+ 18 30£8 2911 | 23%6 1343 1.2+0.3
data 2147 511 10 180 128 6




